3arnosIHNTb MaccuB 4Yucsiamm ¢puboHadyymn
1,1,2,3,5,8,13,21,34,55,...

a=[31,-7,9,0,-2,1,32,9,8,22,6,4]

n=2 a=[31,-7,9,0,-2,1,32,9,8,22,6,4]
al0]=1 n=0
alll=1 c=1
while n<len(a): d=0

aln]=a[n-2]+a[n-1] while n<len(a):

n+=1 aln]=c+d BapuaHT 6e3 npeablayLumnx
print(a) c=d 6e3 non nepeMeHHbIX
d=a[n]
n+=1 a=[31,-7,9,0,-2,1,32,9,8,22,6,4]
print (a) n=0
while n<len(a):

TeopemMa O TOM, YTO HET aln]=int ((((145%*0.5)/2) ** (n+1) -
MHOrou4sieHa, 3aBUCSILLIEN OT OOHOW ((1-5%*%0.5)/2)** (n+1))/ (5%*0.5))
nepemMeHHoNn, KoTopasa npuHMMmana n+=1
Obl OECKOHEYHOE KONMNYECTBO print (a)

NPOCTbIX 3HA4YEeHUA

Mbl XOTUM ABHYO hopmMyny Anisd i-oro Yncna

41n+7+n*2 - n"3 pmboHayun



